Working with Cuisenaire Rods

If the orange rod was equal to 1, the yellow rod would be equal to ½ because the yellow is ½ as long as the orange. We know this because we can partition the orange rod into two yellow rods. 

Try these questions and jot notes about your thinking so you can refer to it later.

1. If dark green is one, what is red? 

2. If yellow is one, what are two reds? 

3. If brown is one, what is dark green?

4. If light green is one, what is orange? 

5. If purple is one, what is black?

This time you will be given a fractional part and iterate that part to find the whole. Again, jot some notes about your thinking for later reference.

1. If red is 
[image: image1.wmf], what is one?

2. If light green is 
[image: image2.wmf], what is one?

3. If purple is 
[image: image3.wmf], what is one?

4. If yellow is 1
[image: image4.wmf], what is one?

5. If brown is 2
[image: image5.wmf], what is one?

We can also combine these two processes.

1. If dark green is ¾, what is 1¼?

2. If dark green is 1½, what is ¾?
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